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S ThE quadﬁlateral ABCD is shoWn in the diagram. |

~ (a) ABCD is reflected in the y - axis to produce its image A'B'C'D".

Draw and label the image A'B"C"D” on the diagram below. [4 marks]

3
A
& -
B A A B
2 Bl el e
(b) Draw the lines of symmetry for ABCD on the diagram above. [2 marks]
A B
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7. (¢) For this question, you are required to show all construction lines.

Using a pair of compasses, ruler and pencil only,

(i) Construct the triangle LM, with lengths LM = MIN = LN = 5cm. [3 marks]

(ii) Bisect the angle XYZ. [3 marks]
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9. (b) Theequation y = 2x + 1 givesthe relationship between x and y.

()  Usethe equation to complete the table. [2 marks]

e 0 1 3 4

2
| 3 5 N 9

(ii) Using the grid provided, draw the graphof y = 2x + L [3 marks]
10 /
9
8

(iii) State the y intercept for the graph y = 2x + 1. [1 mark]

\J:I

13
END OF TEST



